14 .

o

2Fe + 6HCl ==2FeCl, +3H, 1

Fe +2HCI
FeS +2HNO,

FeS

FeCl, + H, 1

Fe( NO,) , + H,S 1

FeS +4HNO, ——

(2)

Fe( NO,) , +2H,0+S | +NO 1
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C,H, OH(

CH, OH(

) +Na,CO,—
C.H,ONa + H,0 + CO, 1

) +Na,CO,—
C,H,ONa + NaHCO,

C¢H;ONa + CO, + H,0—

)

C,H,OH( ) +Na,CO,
NaHCO, C.H,OH

C¢H;ONa + NaHCO,—C,H,OH + Na, CO,
o C4H;ONa co,

€, H, OH(

) NaHCO,

C,H,ONa + CO, + H,0—C, H,OH + NaHCO,

(3)

o

AgNO, + NH, * H,0 ==AgOH | + NH,NO,

AgOH +2NH, * H,0 =

Ag( NH,) ,0H +2H,0

AgNO, +3NH, * H,0 ==

(4)

Ag( NH,) ,OH + NH,NO, +2H,0

2FeBr, +3Cl, =—=2FeCl, +2Br,

Br~

FeBr, Fe’”
Fe2 +
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6FeBr, + 3Cl, ==2FeCl, +4FeBr,
(5)

KIO, KI I,

KIO, +5KI +3H,0 ==6KOH + 31,
KOH 1,

KOH :
KIO, +5KI +3H,S0, ==3K,S0, +3I, +3H,0
2.

(1) : H,CO,. H,C,0,.
CH,COOH. HCOOH. H,SiO, . HNO, . H,PO, . H,S.
H,S0, HF.HCIO.

(2) . NH, * H,0. Mg( OH) ,.
Al( OH) ,.Fe( OH) , Fe( OH) ,.Cu( OH) ,.AgOH.

(3) . BaSO,
PbSO,; : AgCl, :CaCO, BaCoO,.

(4) : Ca( OH),. CaSO,+
Ag,S0, MgCO, »

@ Ag,S0,.CaS0,Ca( OH) ,
)

3.

(1) 6 :HCI.HBr.HI.HNO, .
H,S0,.HCIO, .

(2) 4 : KOH. NaOH,
Ba( OH) ,Ca( OH) ,( ) o

(3) : \

(4) : HCO;
HC,0, \HS™ \HSO, H,PO, \HPO; .
4.

H0 .

o

CaS0, +2HCIO o

NH, -

(1) : Ba(OH), CuSO,
KAI( S0O,),

)
)

3) : Mg( HCO,),
)

10. o
( 12014 - 10 - 10)



